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T - F (a'gﬁwd’r we)
Part-A (MCQ)

(1-15) I 3cax siewT @@ | Choose and write the correct answer. (1x15)

1. I AARAT Ueh ST ASl &1 18 9T H S9dl § dl SaAST 9 S ASell A Hod

FT gI?
If Manorama sales a prawn fish for rupees 18 then tell what will be the price of 9 prawn fish?
(1) Rs 18 (1 Rs 27 ()  Rs 162 (IV)  Rs90

2. UF HIUT & & TAT FA @ FA Rl §[3MT AT ITaRIhdr g
What is the least number of sides required to make an angle?
() 1 n 2 my 3 (v) 4

3. ST fAeH didhelc H 10 TR AT §l W dleholc HT 2/5 AT el AT Fram?
Dairy Milk chocolate has 10 equal parts in it. How many parts will be 2/5 of whole chocolate?
(n 1 () 2 (1) 3 (V) 4

4. FT # @ FlA @7 Ase 180° AT W FAM few@dr 2

Which of the following words look same on180° turn?
(1) ZOOM (1 ONE m  Mow (V)  BOW
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10.

11.

12.

fAeafaf@d & @ la @ gear 2,3 3R 5 # I 82
Which of the following number is multiple of 2, 3 and 5?
(1) 10 (1) 12 (m 15 (Iv) 60

fAFafaf@d s@er & fav wreh dear i@ 7,11,15,19,
Write next number for the following series 7,11,15,19,
(n 21 (m 23 () 25 (IV) 27

g FF 7 1 AT =15 fhelefier § ar o & 18 TEA fvael g =t
gefuam?

If 1cm =15 km on the map, then 18 cm on the map will show the distance-

() 225 fha#Ie/225 kilometer
() 33 TRaAHEI/33 kilometer
(I 270 fRe#Ie/270 kilometer
(IV) 18 TheAIHET/18 kilometer

Tsh G & fohde fray E'.’I?f %‘? How many edges a cuboid have ?
(n 6 (1) 8 (1 10 (V) 12

T500 T GOdT 9T fohclel ®U glam ?
One tenth part of T500 will be-
(n 5000 (1) 500 () 50 (V) 5

T FT &A% et H T Fadh SE g &-

The area of a square is equal to which of the following-
(1 HSIT —HSIT  Side-Side
Pl Pl
(m HST + ST Side+Side
Pl S
(1) 3iTr|T xaiTﬂT SidexSide

(V) 4xafst 4xSide
180X 90 = ...........
{) 17200 (I 1620 () 16200 (V) 1800

fg B=5 ST A EREERRREER fhdsr STal & YEiRid id)-
If @=5 children then how many children will be displayed
(1 9 (1 40 () 50 (V) 45
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13. Toh Jocd 1 9 SNTeX AN A fAATS R Sirar § o & a9l &1 58 YR fe@mr
ST

A circle is divided into 9 equal parts then two parts will be shown as-
(1 2/9 () 7/9 () 1/9 (Iv) 9/2

14. AEATAET & @ HlT @1 36 T IUAES LT §?
Which of the following is not a factor of 36?
(1) 3 (1) 4 (m s (v) 6

15, [T & & 3 -D T 3ETEI0T i IT 87

Which of the following is an example of 3-D?

)] gdT/square

(1 HYdl/cube

() Jed/circle

(V) 3T d/Rectangle

HET - @ (TEJFASS 7o)
Part-B (Objective type questions)

(16-25) g1 % | Solve it. (1x10)

1e.waﬁ$rqﬁmqw%magm7m%?

What is the perimeter of a square whose side is 7 cm?

17. WI{AT 39T Th SGAR YE AT TTE &1 38 T 38 10000 HT HTTRIHAT &
fSge & 73000 39% 9 &1 AV AR &7 a8 dF F FHOT ol §1 9dBT 3T dF T
forder Taw a1 FoT foram?

Fatima wants to start a business of her own. For this she needs ¥10000. Out of which ¥ 3000 is

with her. She takes a loan from the bank for the remaining amount. Tell me how much loan did
she take from the bank?

18. U ST T __ AW Bl g
A hexagon has ___ sides.
19. 37T qUT ‘H &7 fohdelr TATAT @ ghefe
How many lines of symmetry will the English letter ‘H’ have?
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20. Ifg @ = 5 S g ar 240 =AY & AT forda Udies SoIer giar

If @=5 children then how many symbols have to be made for 240 children ?

21. A QU av Yot A & 3R 3 QY|

Check out the below pattern and proceed further-
11x11=121

101 x 101 = 10201

1001 x 1001 = ...cccuvvevvrenne

22. 1/10+1/100 =...........

23. TG AFA A 2 A =10 el §| I a7 FUET & &= i g 50 FohellddleT &
dr Y F 3Tk o T gl e ga$ smeefre

If 2 cm = 10 km on the map. If the distance between two places is 50 km, then the how much
distance between them will be shown on the map ?

24. 3MHfA

c

(1) 3R (2) A ford 3Tohfar 1 aRATT G FA &2

Which shape has the least perimeter?

25. Ueh SATTATT ST 3R Teh AT T Zedt & forderT 3MadeT A g ?

Which one will have less volume in a geometry box and a matchbox?

T - 97 (A Y ScaIcAs 9)
Part-C (Very short answer type questions)

(26-33) g #¥ | Solve it. (2x8)

26. IfE TH Sicl & Toled 100 IATH & dr 20 Sicl FT dolel Tohclell GIIM?
If the weight of one ball is 100 grams, what will be the weight of 20 balls?

27. 60 ¥ 35 33X 70 ¥ B 5 FEAW @

Write 5 numbers greater than 60 and less than 70.
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28.

29.

30.

31.

32.

33.

&3 FT IS Th Yol TATU

Create any one pattern of numbers.

81 4faer &1 Ue fagrs farael dffer giefr

How many pencils are one third of 81 pencils?

9 3R AT F SABol T FA FAT BT 57

What is the formula for the area of a square and a rectangle?

A & d% & T5000 F HOT fordr AR dF A Te000 arow fRU A 3EF ganr fgaT

IRAT ST AT HY|
Avni took a loan of ¥ 5000 from the bank and returned ¥ 6000 to the bank, then find the interest
paid by her.

I g g &l =T T30

Draw a rectangle and a cube.

fordl o 3ol A fohdll Topel & OHET T TEAT A & TU BRERERRFrr R
S A0 §| IS U @=14 BHET B TSIAT Al § A 3F Thel A Fol fohelel BT
giar

To show the number of students of a school in a picture graph ERERRRREERRRERRERRER are
made. If a @=14 students, then how many students will be there in that school

AT - ¥ (TG ScckIcAS Tea)

Part-D (Short answer type questions)

(34-41) g« #Y¥ | Solve it. (3x8)

34.

35.

g U gar &I ST 40 Hex § dF 37 9T &7 &1 F%d ATd HAU/If the side of a square is

40 m, then find the area of that square.

T Ol & Hed 37 § 3R U fhaid &1 Hed 312 g1 901 F ar oef 3R 3 fahard
GUE o 38 ol fohclel TUT A ghar

The cost of a pen is 7 and that of a book is ¥12. If Praveen bought 2 pens and 3 books, how much
money would he have to pay?
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36.

37.

38.

39.

40.

41.

=geT HIOT g 3HfUF HIOT & 9T IiT 3GTE0T 3l

Give five examples of each acute angle and obtuse angle.

39 F 9T 39 THICY 198 SIH 8 T fAgTs TATeR 319t AT 3eirer &1 &ar amgar g
JATST A I fohdel THTET 9red giar?

Abu has 39 tomatoes. He wants to give one third of these tomatoes to his friend Anish. How
many tomatoes will Anish get?

36 & IUES HT UGS &1 =7 |

Make a factor tree of the factors of 36.

(i) 3 #HeX 46 FEHCTHI THET H deoll|
Convert 3 meter 46 centimeter into centimeter.
(i) 5962 TEHeTFH HeX F Fca|

Convert 5962 centimeter into meter.

&l TIY & T Ao FT doled 6 A ¢ al & TIF & @k arell 9rd SRT &7 gofel
forae g1em afe v a1 # 3000 R &2

The weight of a 2 rupee coin is 6 grams, then what will be the weight of 5 sacks containing 2
rupee coins if there are such 3000 coins in one sack?

ofrar &Y 1S Jrrep Tt o &t forat afe ver @iet T 81 Awel 1 @9 G B

Write the area of the figures given below if the area of one square is 1 cm?.

T (—— ———— AT S ey =

! | !
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T - 5 ( &Y 3caicA® W)
Part-E (Long answer type questions)

(42-44) & #¥ | Solve it. (5x3)

2. @A T 7 TH & WA Thel, U T Ao oA T Td & I HT AR G@rar 1
T 39% IR W 7T gealt & 3 ar-

Answer the following questions on the basis of the following picture showing the route map from
Ram's house to school, playground, river and farm.

FPel/ SCHOOL

el O Holal/ PLAY
GROUND

AP 1/ WAY 1

(1) SIS A B ¥ Thel ST § A6 T&d & &led § & AT 3198 7 Hrea] aRign
AT 82
When Ram goes from home to school, which two roads cross each other to form a
crossroads?

(1) uﬁm%ﬁmﬁ@a%%ﬁm%ﬁﬁnaﬁmu@m%ﬁaﬁﬂﬁ
AT T ST GIE?

If Ram first goes from the house to the playground and then reaches the river, which
route will he take

() el A Yl & Al § HieT AT AN S5 TG 82
Which road is connecting the school to the playground?

(IV) S &l @d A ST TT AT IS T@T &2

Which road is connecting the river to the field.
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43. 673 I 21 ¥ HET b APHS g A¥ for@r |

Divide 673 by 21 and write the quotient and remainder ?

44, 9T TAATHT TEIHT ATV AR 3oT TR FATAT Y@IT T FA1C |

Draw five regular polygon and also draw lines of symmetry on them.
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